WALT understand what makes up a 4 and 5 digit number and to add and subtract 1000, 100, 10, 1 to 5 digit numbers.
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1. Complete the calculations.

90 +7 +6,000+400 = 4,382-300=
900+70+600+4 = 4382-80=
9+7,000+60 +400 =

S 4,382-2=
9,000+700+6+40 =
4,382-4,000 =
8,451=5,000+ 300+5,614 = 9,675-50 =
6,140 = 5,000 + +40 2,000+1,430+50 =

2. A football stadium can hold 6,430 people. So far 4,000 tickets have been sold for a
match. How many tickets are left?

3. On afield trip, the children need to walk 4,200m. So far they have walked 3km. How
much further do they have to walk?

4. Mr. Davis has 2 cats. One cat weighs 4,200g. The other cat weighs 3,050g. Their
basket weighs 2kg. How much does the basket weigh with both cats inside it?




